AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable	box)													
☐ FEDER	AL CANDIDA	TE	X STATE	/LOCAI	L CAN	NDIDATE								
	il Themselve v, Federal Cai													
Station and	Locations				Date:									
KURH-1	241 /Ku	JUZ-FM/	Buc-fm			26-18								
	54	SUDA COU	oraso											
ı, <	0 sty 6	RAJEEUA												
	of: unys		·			, a legally								
	ate of the					political								
party for the offi	ce of: CHA	FEE COU	cry Cour	missia	3115	R								
in the	in the Severn Election													
election to be he	eld on:	ں لم ک	2018			100 to								
do hereby reque	est station time as t	follows:												
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times Wee	Contract of the contract of th	Number of Weeks								
			1											
See ATT ACHED														
	AA.													
Total Char	ges:# <i></i>	0000												

For programming that, in whole national importance," list the ma	or in part, "communicates a message relatir atters below:	ig to any political matter of
I represent that the payment for	the above described broadcast time has been	n furnished by:
	nce the time as paid for by such person or entity is either a legally qualified candidate or gally qualified candidate.	
JUON/E L		liblsl
and discount, promotional and of THIS STATION DOES NOT OF RACE OR ETHNICITY IN	its political advertising policies, including: ther sales practices (not applicable to federa DISCRIMINATE OR PERMIT DISCRIMN THE PLACEMENT OF ADVERTISING	l candidates). IINATION ON THE BASIS .
To Be Signed By Date	y Candidate or Authorized (Signature	
To Be Sign	ned By Station Representa	tive
Accepted	Accepted in Part	☐ Rejected
1BC	- Bacyle Buchasa	Pasiners

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed.

Signature

Printed Name

Title

Sales Order

Stations:	KBVC-FM, KV	/RH-FM, KWUZ-	FM		Buyer:			
Contract Name:	RUSTY GRAM	NZELLA COMMIS	SSION	IER	Tax Schedule:			None)
Contract#:	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		951	001221	Agency Commi	ission %: 0		
		End Date:				Calendar	********	
Revenue Type:	POLITICAL		Type:	Cash	Salesperson:	2140hhou	Comm %:	15
Advertiser:	RUSTY GRAM	NZELLA 4 COM	NISSIC	ONER	Makegood Poli	cy: Within Contract Da	ates	
Address:	Attn: RUSTY	GRANZELLA						
	PO Box 1632	,						
City:	Salida	State: CO Zip:		81201				
Product Name:	POLITICAL R	USY FOR COM	MIS					
Competitive Cod	de: Political			* * * * * * * * * * * * *				

KBVC-FM

	DAT	TES	Alt	TIM	MES					DI	STR	BUT	ON			RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	WTF		SA	A SU Per V		D/W	KAIL	SPOTS	\$\$	
1	7/12/18	7/13/18		6:00 AM	7:00 PM	30				6	6			12	D	10.00	12	120.00	2

TOTAL GROSS \$120.00, NET \$120.00

KVRH-FM

	DA	TES	Alt	TIM	MES	200	DISTRIBUTION N T W T E SA SU Per W									RATE	то	TALS	PTY
No	START	END		END	LEN	M T W T F SA SU Per Wk DA								D/W	KATE	SPOTS	\$\$		
1	7/12/18	7/13/18		6:00 AM	7:00 PM	30		1 3		6	6			12	D	10.00	12	120.00	2

TOTAL GROSS \$120.00, NET \$120.00

KWUZ-FM

	DA	TES	Alt	TIM	MES	Ī				DI	STR	BUT	ION		/	RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	
1	7/12/18	7/13/18		6:00 AM	7:00 PM	30				6	6	ĺ	1	12	D	10.00	12	120.00	2

TOTAL GROSS \$120.00, NET \$120.00

Billing Projections: By Month

Jul 18

CA 360.00 ST 360.00

✓ Print Spot Prices	TOTAL	SPOTS		36
	GROSS	S TOTAL \$	36	0.00
	ADJUS	TED SPOT	5	36
	ADJUS	TED TOTAL	<u>.</u> \$	0.00
	APPRO	OVE DECLI	NE	
	\circ	0	General Manager	
		0	2140TBUCH, 06/26/18 @10:18AM	
	\circ	\circ	National Sales Manager	
			Local Sales Manager	

Sales Order

Stations:	KBVC-FM, KV	VUZ-FM			Buyer:			
Contract Name:	RUSTY GRAN	IZELLA/ COMMI	SSIO	NER	Tax Schedule:			(None)
Contract#:			951	1001220	Agency Commi	ission %: 0		
Start Date:	7/05/18	End Date:		7/06/18	Billing Cycle:	Calendar		
Revenue Type:	POLITICAL		Type:	Cash	Salesperson:	2140hhou	Comm %:	15
Advertiser:	RUSTY GRAN	IZELLA 4 COMN	/IISSI	ONER	Makegood Poli	cy: Within Contract Da	ates	
Address:	Attn: RUSTY (GRANZELLA						
	PO Box 1632							
City:	Salida	State: CO Zip:		81201				
Product Name:	POLITICAL RI	JSY 4 COMMIS	SI					
Competitive Cod	le: Political							

KBVC-FM

	DA	TES	Alt	TIM	MES					DI	STR	BUT	ION			RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	T	W	Т	F	SA	SU	Per Wk	D/W	KAIL	SPOTS	\$\$	
1	7/05/18	7/06/18		6:00 AM	7:00 PM	30			100	6	6			12	D	10.00	12	120.00	2

TOTAL GROSS \$120.00, NET \$120.00

KWUZ-FM

	DAT	TES	Alt	TIM	MES					DI	STR	BUT	ON		Men Della	RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	K	SPOTS	\$\$	
1	7/05/18	7/06/18		6:00 AM	7:00 PM	30				6	6			12	D	10.00	12	120.00	2

TOTAL GROSS \$120.00, NET \$120.00

Billing Pro	jections: By M	onth				
		Jul 18				
	CA	240.00				
	ST	240.00				
Print S	pot Prices		TOTAL	SPOTS		24
			 GROSS	S TOTAL \$		240.00
			ADJUS	TED SPOT	S	24
*******			ADJUS	TED TOTAL	L \$	240.00
			 40000	WE DEOL	NE	
			 APPRO	OVE DECL	NE	
			 \bigcirc	\bigcirc	General Manager	
			 \otimes	\circ	2140TBUCH, 06/26/18 @10:15AM	
			\circ	\circ	National Sales Manager	
			0	0	Local Sales Manager	